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C3.Q104.NOTES: 15A DOUBLE INTEGRALS
LESSON 1 (15.1 - 15.3)
WARM UP: Find the area of the region R bounded by y = x*and y=2x
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3. Evaluate m’(x,y)dA for f(x,y)=1
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4. Evaluate ”f(x, Y)dA for f(x,y)=x>+4y
R

T x

[+ A = [[ (3 ) dy o
R > X
: [[,ﬁ\, + Z\”']j:d
: }[()‘3(2") « 2(2x)2) = (x¥(%) + z(x‘)"_] dx
f(lx + gyt - X° Zx‘*) dv : T(i?xz‘-x")o\x

%1_~t_¢]z- gy
s 3 bxo‘s [

oiR

fo\DaA : ”y(x > dy) de dy

oY,
SIESER NP

0
2

[ 450 - (& 6 *‘*(’t)‘l)]‘ﬂ

= |
'1("7“’”' "—'v‘-Zﬂa‘y f(‘*w 'm“%ﬂ%



—_

5. Express ”f(x, y)dA as 'Uf(x, y)dydx and Hf(x, y)dxdy for

R = Region bounded by: x =y, x+y=2,y=0
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6. Express [[ f(x,y)dd as [[ /G y)dydx or [[ £ e, y)dey
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7. Draw the region R in .[ If(x,y)dxdy. Evaluate j If(x,y)dxdy for f(x,y)=2ycos(x)
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8. Evaluate Hf(x, y)dA where R is the rectangular region [1,4]>< [— 1,2] and f(x,y)=2x+6xy
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C3.Q104.NOTES: 15A DOUBLE INTEGRALS

LESSON 3 (15.4, 15.9)
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1. (WARM UP) SET UP only the integral used to find the volume of the solid bounded by
z =4 —x* — y? and the xy-plane.
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2. Find the volume of the solid described in #1 using a polar transformation
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3. Evaluate ” sy )dxdy for the region R bounded in the first quadrant by the circles x> + y* =1
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5. Evaluate He(y"‘)/(y”)dxdy where R is the region within the trapezoid defined by the points
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